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Baseball Jerseys Rubric

points
section
points

1. Gives correct answers:  c = 21.5n 2
2

2. Gives correct answers:  c = 18n + 70 2
2

3. Gives correct answer:  $35
Shows correct work such as:       21.5 x 30 = 645
                                                     18 x 30 + 70 = 610
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4. Gives correct answer:  21 or more than 20
Partial credit: 20
Gives a correct explanation such as:
                 The costs will be equal when 21.5n = 18n + 70, 3.5n = 70,
                 n = 20. So it will be cheaper for more than 20 jerseys.
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Total Points 10


